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' Traveling Salesman Problem
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Current solution := Construction( );
Current solution := Local search(Current solution);
Best solution := Current solution;
Current solution := Tabu search(Current solution);
If ( cost (Current solution ) < cost (Best solution )){

Best solution := Current solution;
¥
for(i=1toL){

Current solution := Perturbation (Current solution);

Current solution := Tabu search (Current solution);

If ( cost (Current solution ) < cost (Best solution )){

Best solution := Current solution;
¥
Else if ( cost (Current solution) > (1+E)cost ( Best solution)){

Current solution := Best solution;
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